DIXMIER 48 Fr &

Weyl B A, (k) Z 20X TEFRT 5,
An(k) = k(&1,8&, -, &My, - -, /CCR)
7272 L. CCR ERD & 5 2B (IEHESCHRBEfR) TH 2
i, &) = 6i (Z/aFxy H—DTIVR),
[mi,m;] =0, [&,&§]=0

J;{—F, {51,52,...,57“7]1,...77]”} @:X%it@f {’}/1,...,’}/2”} t%
Zedvbds,

[is 73] = hij
T ZC, (hij) & (FIHUCET R RTREZR) RNFMTAITH %,

0.1. EXRHE ¢ & 9.
E#E 0.1. A, (k) D Kk[zy,...,x,] LOXH & %

D&).f =aif, (f € k[zq,..., 2]
O(n).f = 0/0rif (€ Klor,... ]

TERT %,

8 0.1. char(k) =p >0 DL X, & X klzy,...,x,)/(},...,2P) b
DREIRKI Oy ZERT b0 Do IFFRE A,/(V,....15,) L BITHIBR
My (k) O kIRFARZ 52 %,

2 0.2. k(71,...,720)/CCRp = Myn(k). 7272 L.
CCRp = (CCR) UL, 70}

1. 7
FAE 1.1, EE 0 DR k LD Weyl ]R A(k) © RECHERE LT 2
HHTH 5,
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2 DIXMIER F# £t

2. X<HIoh/-H5
LT, char(k) =p >0 &9 %,
R 2.1. A, (k) 1& M, (A (k) \ZHEDIAD 5,
EIE 2.2, p: A(k) — A(k) BRECHERBITHIUI. Tg(t) € GLy(Kk[t]), o :
A — A such that
p(a)(t) = g(t)a(a(t))g(t) .

@ 2.3. Deg(govigy ) < p/2(i = 1,2,...,2n) £ 5%, (Dege X

Vi g0vido
1 A, (k) OBRHECHERBUINRATEET D %,

90[%‘%’]90_1 - hz’j
¥ CCRp THAEM I N3 ideal DIT/EH, KEDBEHR2 S, 0 LA
HYH AW,

3. STATEMENTS

EE 3.1 (A). g0%ig5" = ai(71, ..., y2m)(i=1,...2n EEF =T 3,
[Deg(a)+k <n(p—1) ZIRET %, DY X Deg(F) =1,Deg(G) =k
ZAT ERDOZHEN F,G IR LT,

tr(F(gongo )G(1)) = 0
DR D T=D,

%o |+ (Deg(b))k >2np 72513,

3F, 3G such that Deg(F) = 1,Deg(G) = k, tr(F ()G (g5 11g0)) # 0
generic RZHRDBREZ R 5,



